MIAMI-DADE COUNTY
PRODUCT CONTROL SECTION
11805 SW 26 Street, Room 208

DEPARTMENT OF REGULATORY AND ECONOMIC RESOURCES (RER) Miami, Florida 33175-2474
BOARD AND CODE ADMINISTRATION DIVISION T(786) 3152590 F(786)315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/economy

BP-Glass Garage Doors & Entry Systems, Inc.
1511 W. 2nd St.
Pomona, CA 91766

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials. The
documentation submitted has been reviewed and accepted by Miami-Dade County RER-Product Control Section 1o be
used in Miami Dade County and other areas where allowed by the Authority Having Jurisdiction (AHI).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control Section
(In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to have this
product or material tested for quality assurance purposes. If this product or material fails to perform in the accepted
manner, the manufacturer will incur the expense of such testing and the AHJ may immediately revoke, modify, or
suspend the use of such product or material within their jurisdiction. RER reserves the right to revoke this acceptance,
if it is determined by Miami-Dade County Product Control Section that this product or material fails to meet the
requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: Models BP-450 HD/BP-550 SHD Aluminum and Glass Sectional Garage Door up to
24°-2” Wide x 16’-1” Height

APPROVAL DOCUMENT: Drawing No. BPC005, titled “BP-450 HD/BP-550 SHD Glass Garage Door”
sheets 1 through 8 of 8, dated 01/13/2012, with revision B dated 01/05/2016, prepared by Building Drops,
Ine, signed and sealed by Hermes F. Norero, P.E., bearing the Miami-Dade County Product Control renewal
stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product
Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: A permanent label with the manufacturer’s name or Jogo, manufacturing address, model nurmber, the
positive and negative design pressure rating, indicate itmpact rated if applicable, installation instruction drawing
reference number, approval nember (NOA), the applicable test standards, and the statement reading ‘Miami-Dade
County Product Control Approved’ is to be located on the door’s side track, bottom angle, or inner surface of a panel.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no change
in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any product,
for sates, advertising or any other purposes shall automatically terminate this NOA. Failure to comply with any section
of this NOA shall be cause for termination and removal of NOA,

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by the
expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall be done
in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors and
shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 16-0314.10 and consists of this page 1 and evidence page E-1, as well as
approval document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 16-0912.02

Expiration Date: January 17, 2021
Approval Date: November 17, 2016
Page 1

MIAMI-DADE COUNTY

APPROVED




BP Glass Garage Doors & Entrv Systems, Inec.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A, DRAWINGS “Submitted under NOA # 16-0314.10"
1. Drawing No. BPCO005, titled “BP-450 HD/BP-550 SHD Glass Garage Door”, sheets 1
through 8 of 8, dated 01/13/2012, with revision B dated 01/05/2016, prepared by Building
Drops, Inc, signed and sealed by Hermes F. Norero, P.E.

B. TESTS “Submitted under NOA # 12-0620.15”
1. Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3} Cyclic Wind Pressure Loading per FBC, TAS 203-94
4) Forced Entry Test, per FBC TAS 202-94
along with installation diagram on three Series/Model BP-450/ BP-550 SHD Hurricane Line,
glazed sectional garage doors, prepared by Architectural Testing, Inc, Test Report No.
A6707.01-301-18, dated 11/22/2011, with Revision 2 dated 06/01/2012, signed and sealed by
Tyler Westerling, P.E. ‘

C. CALCULATIONS “Submitted under NOA # 16-0314.10”
1. Anchor calculations prepared by Building Drops, Inc., dated 01/05/2016, signed and sealed by
Hermes ¥, Norero, P.E.

“Submitted under NOA # 14-0211.16”
2. Product evaluation report prepared by Building Drops, Inc., dated 01/07/2014, signed and
sealed by Hermes F. Norero, P.E.

“Submifted under NOA # 12-0620.15”
3. Product evaluvation report complying with FBC 2010, prepared by Building Drops, Inc, dated
05/11/2012, signed and sealed by Hermes F. Norero, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Department of Regulatory and Economic Resources (RER)

E. MATERIAL CERTIFICATIONS
1. None.

F. STATEMENTS “Submitted under NOA # 16-0314.10”
1. Statement letter of code conformance to the 5% edition (2014) FBC and of no financial interest
issued by Building Drops, Inc., dated 01/05/2016, signed and sealed by Hermes F. Norero,
PE.

“Submitted under NOA # 14-0211.10”
2, Statement letter of code conformance to 2010 FBC and no financial interest issued by
Building Drops, Inc., dated 09/23/2013, signed and sealed by Hermes F. o, P.E.

Carlos M. Utrera, P.E,

Product Control Examiner

NOA No. 16-0912.02

Expiration Date: Janunary 17,2021
Approval Date: November 17, 2016




172572016 8156 AM

il

4 prajects\bp glose garooe duors & entry systems inc\ce15-07%1 fhe 2014 {verticn 5} cadr change\divgs\bpeCOS rev o dwg

INSTALLATION NQTES!

1.

ONE (1) INSTALLATION ANCHOR |S REGUIRED AT EACH ANCHOR
LOCATION SHOWN UNLESS OTHERWISE STATED,

. THE NUMBER OF INSTALLATICN ANCHORS DEPICTED 1S THE

MINIMUNM NUMBER OF ANCHCRS TO BE USED FOR PRODUCT
INSTALLATION,

. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHEN A

TOLERANCE OF £1/2 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (|.E., WITHOUT CONSIDERATION OF
TOLERANCES}), TOLERANCES ARE NGT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

. SHIM AS REQUMRED AT EACH INSTALLATION ANCHOR WITH LOAR

BEARING SHIM(S}). MAXIMUM ALLOWABLE SHIV STACK TG BE1/4
INCH, SHIWM WHERE SPACE GF 1/18 INCH OR GREATER OCCURS,
SHIM(S} SHALL BE CONSTRUCTED OF HIGH DENSITY PLASTIC CR
BETTER.

. FOR (NSTALLATION INTD WOOD FRAMING USE 3/8 INCH LAG

SCREWS OF SUFFICIENT LENGTH TGO ACHIEVE 3 INCH MINIMUM
EMBEDMENT INTO WDOD SUBSTRATE.

. FOR INSTALLATION DIRECTLY INTO COMCRETE/MASONRY, SEE

TABLES A-C (SHEET B) FOR WMENIMUM DIAMETER AND MINIMUM
EMBECMENT INFQ.

. FORINSTALLATION THROQUGH STEEL STUD, USE 3/8 INCH

DIAMETER STEEL BOLTS OF SUFFICIENT LENGTH TO ACHIEVE A
MINiM UM OF THREE {3} THREADS OF PENETRATION BEYOND
STEEL STRUCTURE,

. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WalL

FINISHES, INCLUBING BUT NOT LIMITED TO STUCCO, FOAM, BRICK
VENEER, AND SIDING,

. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE

MADE OF CGRROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING,

10.FOR HGULOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL

INSTALEATION ANCHCRS INTD MORTAR JOINTS. EDGE DISTANCE
1S MIEASURED FROM FREE EDGE OF BLOCK OR £DGE OF MURTAR
JOINT §NTO FACE SHELL OF BLOCK,

1LINSTALLATION ANCHORS SHALL BE [NSTALLED IN ACCORDANCE

WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHEORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MiNIMUM STRENGTH SPECIFIED BY
THE ANCHCR MAMUFACTURER.

1ZINSTALLATION ANCHOR CAPACITIES FOR PROBUCTS HEREIN ARE

BASEDR ON SUBSTRATE MATERIALS WITH THE FOLLOWING

PROPERTIES:

A WOOD - MINIMUM SPECIFIC GRAVATY OF 0.55.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PSL

C, GROUT-FLLED CMU - UNIT STRENGTH CONFORMS 70 ASTM
C-90 & GROUT CONFORMS TO ASTM € 476. GROUT SHALL
HAVE MINEM UM COMPRESSIVE STRENGTH OF 2000 PSi. SEE
FBC SECTION 2105.2.2.1.2 (3} FOR GROUTED MASONRY )
REQUIREMENTS.

DL STEEL- MINIMUM YIELD STRENGTH OF 33 K5I, MINIMUM
WALL THICKNESS OF 118 MILS (11 GAUGE}

BP-GLASS GARAGE DOORS &

ENTE

BP-450 HD/BP-550 SHD GLASS GARAGE DOOR

(U.S. PAT.) - HURRICANE SYSTEM

GENERAL NOTES!

1. THE PROPUCT SHOWN HEREIN IS DESIGNED AND
MANUFACTURED TO COMPLY WiTH THE 5TH EDITION
FLORIDA BUILDING CODE (FBC), INCLUDING HVHZ AND HAS
BEEN EVALUATED ACCORDING TO THE FOLLOWING:

« TAS201-94
+ TAS5202Z-24
« TAS203-94

ADEQUACY OF THE EXISTING STRUCTURAL
CONCRETE/MASTNRY AND AX FRAMING AS A MAIN WIND
FORCE RESISTING SYSTEM CAPABLE OF WITHSTANDING AND
TRANSFERRING APPLIED PRODUCT LOADS TO THE
FOUNDATION (S THE RESPONSIBILITY OF THE ENGINEER OR
ARCHITECT OF RECORD FOR THE PROJECT GF INSTALEATION.

Z

3, 4X BUCKS {WHEN USED)} SHALL BE DESHENED AND ANCHORED
TO PROPERLY TRANSFER AlL LOADS TO THE STRUCTURE.
BUCK DESIGN AND INSTALLATION IS THE RESPONSIBILITY OF
THE ENGINEER DR ARCHITECT OF RECCRD FOR THE PROJECT
OF [NSTALLATION,

4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC
AND MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC
SITE. IF SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE
FROM THE REQUIREMENTS DETAILED HEREIN, A LICENSED
ENGINEER OR ARCHITECT SHALL PREPARE SITE SBECIFIC
DOCUMENTS FOR USE WITH THIS DOCUMENT.

5, APPROVED BPACT PROTECTIVE SYSTEM IS NOT REQUIRED
ON THIS RRODUCT [N AREAS REQUIRING IMPACT RESISTANCE,

6, DCOOR FRAME MATERIAL ALUMENUNM BO0D5-TS

7. DISSIMILAR METALS INCLUDING FASTENERS THAT MAY COME
INTO CONTACT WITH ALUMEINUM UNIT FRAMING SHALL BE
PROTECTED IN ACCORDANCE WITH THE 5TH EDTION FBC.

8, GLASS MEETS THE REQUIREMENTS OF ASTM E 1300-04 GLASS
CHARTS, SEESHEET 3 FOR GLAZING DETAILS.

9. EPDN GLAZING GASKET HAS BEEN TESTED IN ACCORDANCE
WITH FBC 2411.3.4.

10. BP HURRICANE SYSTEM IS PATENTED IN THE USA,

TABLE OF CONTENTS

SHEET

REVISION

SHEET DESCRIPTION

INSTALLATION & GENERAL NOTES

ELEVATION & ANCHOR LAYOUT

ASSEMBLY DETAILS & GLAZING DETAILS

VERTICAL & HORIZONTAL SECTIONS

HORIZONTAL SECTIONS

ANCHOR TABLES & BRACKET DETALL

COMPONENTS & BILL OF MATERIALS

QN[O | jw | N~

Rlw|lew|lwlwliw|lw|w

COMPONENTS

DESIGN PRESSURE RATING

DESIGN PRESSURE - ALL STZES | MISSILE IMPACT RATING

+50.0 / -B0.0 PSF*

LARGE AND SMALL
FMISSILE TMPACT RATED

*REMOVABLE REINFORCEMENT REQUIRED

PRODUCT RENEWED
as complying with the Florida

Building Code
NOA-No. 16-0912.02

Expiration D e 01/17/2021

By

BP-GLASS GARAGE DOORS
& ENTRY SYSTEMS, TNE,
151 W, 2nd St
Pomernia, CA 9766
PHE (526) 4421714 P {426) o79-5320

winyGlussGarageDoors.com
5 2 B
z 25
oo e ¥
Lia 3
ehawl Z g8 g
FaRSi i 2w =0
azgs o - 1w o
I E 7y)
OLL?“:.{Z ﬂ_m‘J .
HOH 3 ogs &
m‘(ﬂﬂqﬁi quI
S¥xpw 359
m%:u‘)z ' m <
+IFZHIS 8 T o
T HYS 2 Sa §
%m,,' %D HEq: @
Sk (b %8 &
G & 84
LV By < O,.% 9
2 |f ausd
™ ‘e
£ 2 |2Q8 &
w I8 o
[ R
< |t E
a ]2 | L
~T=r=
alBlE
Zl 8|8
W e
o1
O - |28
DIERHEE
S5 18|z
S 1s1Q
g & &
iy § o
|2 9|8
o i
> =
<k

———is

PEeg. yziaey

3

 ATHERIZATION NoI, 35878

FaP'E"c‘,—:m’f*‘?':'oF;

Mlam:—Dadé Product Control

PRODUCT REVISED
as caaplying with the Florida
Baildigg GCode

Acocplmoc No H;




{

290.00" 0.A, DOOR WIDTH

57.00" MAX,
PANEL WIDTH

[241_2||]

VERTICAL BRACES MAY BE OFFSET UP TO 12" MAX
LEFT OR RIGHT FROM ANY BRACE LOCATION

Eo 1 .
PL R -

%ﬁéﬁ{% N s — W] e e T
I =1 WWT%E}?T]EIJ!IH T T HfHH I DETATL 4 l (LW ot
e _ W 7 /\/ % % % % °/_ PH: (52342%“1;1& :;):D(f,zi)csgfsazo
LY
= i i {l T 1 1 K| 5 = o
§ ! e 85
. 30£0I1MAX. o _./{ B5.50% MAX. ’ /// a7 2 LT ‘ % ! ’ |§[ [ | %l ' | o % [ I R Q§§ BG::D; :?.") g % é_
SH é:;gg_\] PANEL/DLG WID PANEL/D HEIGHTH I I ’ I I I ! t ' l | BETALL 2 £ozz g 37: am 8
BOSHIE OF L &
/ f% Ry 0 “{E‘E < & & [ I-
i il T . ECRH P
- ; . ) ' = il TOT P D
| N7 NHEY //ﬂ 7 \ s L
) 0% |2 BEo% 4
adJuUsTABLE AT ]/ @%l l ! 1 p o Sy |5 ads B
TABS ATS: / /li ! 4 % ., P2 2@
FRC N % S - o =
BOTTOM & p I? IRy [ 1 &, e igls
24" 0C. ¥ / 4 E < 15|
| % l 1 | I f J ] \?190330 2 i -
“ ‘ L LUl u/ u 4! R EX
‘ HezeHT | )
&'t
/4 20 BoLTS a DETAILL 6 %/ I I % I | \ | %‘ el 2 E
’ (N7 R | 12 N[ SIFHE
"f 4 % W Vp) 2129
N A ] , I L : B glg
g 15 T i T e 1t =]
ANCHOR p % | P = & g &
A oA A ol s 38
a X
s g 0 gl g 5\
MAX, =] ﬁ = i § i = S = T s = = < Ty
S . ét%gﬁf#m\%s” H T 1 K i 4 Tt
é 24.00" 0.C. AT A 2 el A N S
900" FROM | 9.007FROM | ] l | H ” = | i y . N :'r ok S
soTTom max. I 1 oo T TR (=) TR] 1 g 1 <o S
i { H, S | S\ S
BP ALUMINUM BRACE DETAILY DETAIL 8 PS B2
REMOVABLE REINFORCEMENT 52.00" MAX. 58.00" MAX. 58.00" MAX, e———F58.00" MAX. [=—————D5B8.00" MAX. R 3 T
(PERMANENTLY ATTACHED NEAR SR
DO,?&ET%&%X?EE%}{E" 1/8" AIRCRAFT CABLE - ATTACH INTERIOR ELEVATION e L
, ONE END TO ETEM 13 AND THE PRODUCT RENEWED R F E
REFER TO MANUFACTURER'S OTHER END TO THE NEAREST as complying with the Florida PRODUCT REVISED 18 oz Y
S By S INSTRUCSTON SUBSTRATE. Noteb eTATLS NOANG. " 16-0012.02 | o ’cm"m“ e | 55 %é e bk
DETALLS Expiration [ B m’aﬁ ;10 [owe #
ANCHOR LAYOUT P "— M&% BPCOOH
M!{aml-Déd Product Control A ' SHEET: 2 OF 8




R N S i
DETAIL I DETAIL 2 DETAIL 3 DETAIL 4
K o %ﬂ] By stetis .
'E Y o 2 ] Pcrnon:f- cingss"rtés
- ! [} e otsbaragsboararam 20
M = of
L] E ﬁ ]
ne | g8y ]
U H
] . &aaql =z58 &
@ 57 << ~3 w9
xmvﬂ 5_-, EI O i ]
RBauvwao ‘(:_‘5 % . =g
X 358 a‘ﬁ SF U
ROTF Sl o= 5 o
a7y wrdlm 25 a §
SN ud ] =
SET 08 959
DETAIL B DETATLT . DETALL 8 oo % 52 Z %
/],/ I ﬁﬂ\ B2 |zE8 &
. / \ =19
/ gé A Ty}
[ o N =
BP - GLASS
a .
\—-, W GARAGE & 2 §
\L 1) m
0
I x2 % “8-’ E
PERMANENT N.O.A, PLAQUE =)z IR £
(FOR INSPECTION Al 2 2 >
VERIFICATION) i Elgle
I
5/16" 0.A. LAMINATED GLASS >| g S 5
CONSISTING OF: wiaIg|e
] |- 1/8" ANNEALED GLASS Yyojg|gd
0.090° PVB INTERLAYER & | io
3/32" ANNEALED GLASS ZIE
—-—I l—-—ifa" ALUMINUM PANEL o
T T~/ GLAZING GASKET AT |
7 N —GLAZING GASKET - MINIMUM TR
// MINIMUM DUROMETER = 70 / \, DUROMETER = 70 Fo G e g B
\ ' \ : ' . ) Y- :aj
/ \ / \ ERESEED
{ r e
l / %“f“":&g“f
+ ! :l ‘ ]\ ;f .Qgga%% :
9/16" MIN. \ = 9/16" MIN, \ 7 BER2ECY ©
GLASS BITE \ PANEL BITE \ : R X1 By
| | 3 t s ™~ 3 5, ceepentl AR
i ":\ N Rl ] AN
e o PRODUCT RENEWED fo |o¢ ‘E“E
as complying with the Florida FBODUC’_!"REVISBD ’E E £ l':": 3:5 o
GLAZING DETAIL PANEL DETAIL iianstes el ol M
Expiration Date 01/17/2021 Excpirativn Peto & 4 B P COO5
oy (e :,%_
Miami-DAGE Product Control p, SHEET: 3 OF 8 I

.




L
NOTE: HEADER DETAIL CAN MATCH ANY OF THE l
TAME AND/OR ANCHOR TYPES ON 4 OF 7.
MIN. TTEM 14 AND 15 ARE ADTUSTED
EMBEDMENT (182 IN PLACE DURING FIRST
16)x2 .~ INSTALLATION, THEN REMATN LTEM 21 - THROUGH BOLT WITH e
______ PERMANENTLY ATTACHED TO WING NUT (SCREW IN FINGER BP-BLASS GARAGE BOORS
T A T T L T T A B{ TTEM 13 THEREAFTER TTGHT AND KEEP ATTACHED TO GENTRY SYSTEHS, INC
INSTALLATION ANCHORS TTEM 12 DEFLECTION BRACKETS . Pamora, €A 91766
THROUEH HEAD WHEN REMOVABLE REINFORCEMENT PH 2O AEATIC X (626) B79-5520
BRACKETS, SEE ANCHOR 3,5" 0.C. SPACING TYP. IS NOT IN USE) = N
TABLE A, SHEET 6 FOR o 3 F
/EDGE DIST./ ANCHOR OPTIGNS, ; 4 3 2 g% o $
_ s S
(] RN R I = EI HITNE i %g% - E H g E é
1 E olE T 0 }{’ a
Qo 3 T o %
T :j /@xZ EXTERIOR E g SEE E S % 2
S A L E e ! @) AI5WEl.. GB=
. G~ ] W BE
_1_ A}r v 2T f @ @ / :‘L% X g Q g ﬁ 23 g
] f A Pt 9l aZ S d
TpWw 3 o
| 5 |35 {8 9251
@\ @\ — OOOG L}__ij: % 5’9‘;’0?
’ & | @ pe |2Eg EE
(@) ()
@) REFER TO MANUFACTURER'S 6 w91
.\ INSTALLATION MANUAL FOR STE? | ()2 P B
O.A. DOOR BY STEP INSTRUCTICON DETAILS ON | A O g §
HETGHT REMOVABLE REENFORCEMENT NEE |
| & lpiy
|
EXTERTOR INTERIOR ¥ | | InTERzoR 2) I
| 2. s
H <
G / { Q] _ 1418
~® = EANE
f L /T\ VERTICAL SECTION 2 EAEE
/B VERTICAL SECTION 4./ [NTERMEDIATE RAIL o B £ z
W TOP RAIL Wl a 2 E
] g INTERIOR o) =2 |9 2
B O
g
L] X2 1/8" ATRCRAFT CABLE - Lt ‘ - .
EXTERIOR INTERIOR ATTACH ONE END TO ITEM A g f<|m
13 AND THE OTHER END TO i -
THE NEAREST SUBSTRATE. EXTERIOR _“U‘\; oy ""'.r'._lFg %
7| I ».-""= a4 [ wWE L, BT
0.A. DOOR p / e e
HETGHT y /D\HORIZONTAL SECTION Koot %Sakiégg
00000000 O@@ 1 \4/ VERTICAL MULLION el ‘T‘f E?»ﬁég :
- 'k mﬁ.,iz":"ﬂ’z; %
25 ' (3) BROP -IN ANCHORS PER BOTTOM BRACKET - - ggﬁgﬁ
%2 ' e JATUBEE
@\. REQUIRED (SCREW IN FINGER TIGH Y AND KEEP IN o oo Bk
4 PLACE WHEN REMOVABLE REINFORCEMENT IS NOT PTG
4 &) IN USE TO KEEP HOLES FREE FROM DIRT AND N : e s e £
DEBRIS). SEE ANCHOR TABLE B, SHEET 6 FOR T PRSP 11
- PRODUCT RENEWED bl EORN ot L 10
. _ ANCHOR GPTIONS. as complying with the Florida | FROGUCT REVISED 3 g;, & I5h i
AR AN B n . il MIN. Building Code ;ﬁmmrﬁw withthe Flovida §55 3 &5 u
~q B L. : ‘C (E%?’ EMBEDMENT NOA-No, 16-0912.02 Ve Ik
VERTICAL SECTION f Expiraton B
m By lgko«
BOTTOM RAIL Miami-Dadd Product Control




ET IS L
3" TRACK
3* TRACK —] B.OO" MAIN. TAMB e
l—  8,00" MIN. TAMB -—] 39 TRACK CLEARANCE
CLEARANCE |~ B.00" MIN. TAMB —— ! E" TRACK
2" TRACK CLEARANCE ] 6.00" MIN. JAMB ——
CLEARANCE 3/8" LAG SCREW - 600" MIN. JAMB —] Tl v TN BP-GLASS GARAGE DOORS
WITH MIN, 3" c . ASONRY W, 2nd St,
AN, EDGE CONCRETE BY EMBED. HEARANICE 1" MIN. MIN. EDGE “%LLE[;\IWITH gy L EABES
: e | OTHERS \\\\ EDGE DISTANCE DLSTANCE - e P (526) 4421715 nrseb(n 526) 5795320
DISTANC & : X :
; < 4 . S oy
CONCRETE ANCHOR. : @ B
< . . 4 SEE TABLE €, SHEET + 4X WOOD BUCK BY # i CONCRETE ANCHOR. E 2 |
1q. SEE TABLE ¢, SHEET 2 2 S IO
o - S aCHOR 3" MIN OTHERS WIN ; 6 FORANCHOR | @ 288 4
2 . . i a Lo
EMBEDMENT ng o % e %
INTERIOR INTEREOR I INTERIOR g %ﬁ £ % 2%
T D6 8 1 o2y .
N ng\ =~ = i "\ DRYWALL %33:- g | = ﬁ'ff 3
DRYWALL o lp B82S ¢
DRYWALL | OPTTONAL e ® oS Xz &
OPTIGNAL : OPTIONAL ' §m2 < SUS§
LOAD BEARING | <
LOAD BEARING LOAD BEARING | SHIM UP TO 1/4" OR 02 |2&8 s
SHIM UP TO 1/4° OR 15>£<{,/Iaﬁ>,\< L\jiorcz)%%TEoEt . 13/2X WOOD/STEEL
pmmes ¢! G BY 3
FRANING B foTeet @1 Zﬁ_@"éﬁ’;‘;j‘:m @51 1 i & D THERS WHEN % b
& (o
sl A ol il et I
DRYWALL EXTERIOR DRYWALL exverRiORD 64 5 |B §
/ENHORIZONTAL SECTION /ENHORIZONTAL SECTION /GNHORIZONTAL SECTION :f'?.} Al
JAMES - DRYWALL OVER CONCRETE JAMES - PRYWALL OVER 4X WOOD FRAME 5 JAMBS - DRYWALL OVER ClviL} LéJ i~
\SJ ANGLE MOUNTED @ ANGLE MOUNTED U ANGLE MOUNTED O , 5 5
5
Q v
3" TRACK WIE |52
< B.OOY MIN, JAMB ——=] gl S 1= =
3 TRACK CLEARANCE ; B g Isl5
———— B.,00" MIN. JAMB —— 24 TRACK, STEEL TUBE Lz E
CLEARANCE Lo 600" MIN. JAMB ——=i MIN. 11 GAUGE Yl o ol
- CLEARANCE W
2 TRACK 3/4* MIN, EDGE Z1x
CLEARANCE AL LY AL AL L OPTIONAL
VT AP STEEL TURE } P IF BACKING IS o
/_ MIN. 11 GAUGE A SOLID STEEL e
da LB
A / R i ‘: o (E
/ | l s LAY e ﬁ{ o R
INTERIOR . PRODUCT RENEWED : gl
- 3 THREADS /": AR 4 /;’: £l '_{: INTERTOR as complying with the Florida e @ ._gﬁ E-J_Egﬁg R -
(7 77 7F 77 77 MIN. PENETRATION i - s Building Code 16-0912.02 SEE ﬂ.g’Egimém@gag‘ L
. , @ /@ BEYOND STEEL STRUCTURE NOA-No. -0912. L= | I
MIN. 174" X 1-1/4" FILLEY LOAD BEARING | Expiration Pate 01/17/2021 > ERE I
WELD REQUIRED AT ’—7 SHIM UP TO 1/4" OR1X/2X ) T o Qadzag -
FACH SLOTTED ANCHOR - WOOD/STEEL FRAMING BY OTHERS r By JJ il - R ‘fzﬁ aELY o
LOCATION @ {m WHEN USED WITH DRYWALL Miami-Dadé Product Control G el N E'g =
(9??&&:%%?‘??5 e 3/8" STEEL BOLT L it 2]
24" 0.C.) )] (DRTLL ANDTAP 5/16" N O E T
c. DIAMIN. TYP.) PRODUCT REVISED Ee 27 |25 |35
0 ngwit daFixiia O35 i
o) ) ® EXTERIOR EXTERIOR ol b o 3o
HORIZONTAL SECTION et 17 R
"y BP 5
/ TN\HORIZONTAL SECTION @ ZONTAL SEC] . :@‘ C0O0
JAMBS - STEEL - )
S/ REVERSE ANGLE MOUNTED ANGLE MOUNTED Mawtnt Commt |SHEET: B OF 8




S T i
Type Anchor Substrate Embedment | Edge Distance | C.C. Distance Type Anchor Substrate Embzdment | Edge Distance
3/8" ITW Redhead A7 2000 psi concrete | 33/8" 31/2" 332" 3/8" Hilti HOI 2000 psi conerete | 19/16% 31/8"
Epoxy 3/8" Simpson AT - 2000 psi concrete 13/4" 3 312" Drop-in 3/8" ITW Redhead 2000 psi congrete 15/8" 27/8"
3/8" Hilti HY150 MAX 2000 psi concrete 13/4" 3" 31/2" 3/8" Powers Smart Di+ 3000 psl conerete 19/16" 43/2" PE b
P SPE— ; : o »  ALL ANCHOR TYPES LISTED ABOVE VALID FOR MIN. SPECIFIED SUBSTRATE OR GREATER
3/8" Hilti Kwik Boit 3 3000 psi concrete 21/2 31/2 31/2" «  ANCHOR OPTION MUST MEET MINTMUM EMBEDMENT AND EDSE DISTANCE SPECIFIED W o q
Expanslon 3/8" Hilti Kwik Bolt 3 grout filled CMU 27" 4 z1/2" ' e (626)44”;’_“1";]‘“; C&ﬁ"’;&) —
3/8" [TW Redkead Wedge 2000 psi concrete 3" 3" 31/2" ANCHOR TABLE B - SILL s ClassbarogeDaars cam
3/8"* Pawers Bolt Expansion 300Q psi conerete. 2 ;L{'Z" a1/ 31/2" E o o
3/8" Redhead LDT 3000 psi concrete | 23/2" 2 32 w2 Ry 3
3/8" Redhead LDT grout filled CMU 21/2" 31/2 31/2" JSeedl AgB g
Tapeon/ | 3/8" Powers Wedge 2000 ps| conerete | 21/2° 3" 31/ Togelkl  gan 9
Wedge 3/8" Powers Wedge grout filled CMU 24/ 31/ 31/2" \&": EE ” Q 9 § ;": i
Balts 3/8" Simpsar Titen HD 3000 psi concrete 2.3/4" 33/2¢ 31/2" i g%% Sl W
3/8" Hilti Kwik HUS-EZ 3000 psi concrete | 21/2" 3" 31/2" Type Anchor Substrate Embedment | Edge Distance | 128 A oZsH g
378" Hilti Kwik HUS-EZ grout filled CMU 15/8" 4" 31/ 3/8" Hilti HDI 2000 psi concrate 19/18" - 31/2" j g-.'é @ ﬁ % % 8
e &
Lag Screw 3/8" Lag Screw Wood 3 o 21/4" Drop-ln 3/8" ITW Redhead 2000 psi concrete 15/8" 27/8" g g |g &u 3 8
C . - , -
(min 5.6, =0.55) 3/8" Powers Smart D+ | 3000 psi concrete | 19/16" 31/2" F 2 |Z2€8 3
Steel 3threads 3/8" ITW Redhead A7 2000 psi conerete | 33/8" 33/ ol
Bolt 3/8" Steel Bolt (18 mils in, | PEnetration 3/4" 2 1/4° Epoxy 8/8" Simpson AT 2000 psi concrete 13/4 3" SN D e
wall thickness) beyond steel 3/8" Hittl HY150 MAX 2000 psl concrate 13/4" 3" a [Zi-
structure 3/8" Hilt Kwik Bolt 3 3000 p5i concrete 21/2° 31/2" > =15 E
1 3N H T I =
s ALL ANCHOR TYPES LISTED ABOVE VALID FOR MIN, SPECIFIED SUBSTRATE OR GREATER Expansion 3/8" Hiiti Kwik Bolt 3 grout filled CMU 21/2 31/ W) 2
+ ANCHOR OPYION MUST MEET MENTMUM EMBEDMENT, EDGE DISTANCE, AND C.C. DLSTANCE SPECIFIED " ; " '
s ANCHORAGE AT BRACKET MUST CONFORM TO APPLICABLE BRACKET DETAIL BELOW 3/:? LW Redhead WEd,ge ZOUO ps Concre.[:—e = 3 ; " - 3 " Z 8 @
ANCHOR TABLE A - HEADER _'3/3' {?q_@v_e_rs_ Bolt Expansion 30_90‘psi concrete 21/7 31/2 o =) <
3/8" Redhead LDT 3000 psi concrete 11/2* 2 ] I < 5
Tapcan 3/8" Rédhead LDT grout filled CMU 11/2" 31/2¢ ) g 2 9
ANCHOR Wedge 3/8" Powers Wedge 2000 psi concrete 21/2" 3" Hiy E ow
LOCATIONS Bolte 3/8" Powers Wedge grout filled CMU 21/2" 31/2" £ = gﬁ} 2 %
3/8" Hiltl Kwik HUS-EZ 3000 psl concrete z1/2" 3" g'{'j ot & E s
S . _ 3/8" Hifti Kwik HUS-EZ grout filled CMU 15/8" 4" I
Wood ZiIE
Lag Screw 3/8" Lag Screw 3" " <l
@ i /8" Lag {min 5.G. = C.55} o
BRACKET ANCHOR LOCATIONS FOR INSTALLATION Steel 3threads BEIA
INTO WOOD FRAME OR STEEL SU TE i L
? P | Bl 3/8" Steel Bolt (118 mis min, | ” engtf“’”l 3/4" -
BRACKET DETAIL A wall thickness) | C/o0C Stee N B
(WOOD/STEEL INSTALLATION) structure ST g’é’
»  ALL ANCHOR TYPES LISTED ABOVE VALID FOR MIN, SPECIFIED SUBSTRATE OR GREATER . = "5‘1-% n-‘§ AL
ANCHOR +  ANCHOR OPTIGN MUST MEET MINIMUM EMBEDMENT AND EDSE DESTANCE SPECIFIED P Eggﬁ é :
LOCATIONS Ao PEFUETE :
W AEEEY -
ANCHOR TABLE C - TRACK Gsshst
' $ g?ﬁﬁ%‘} .‘r:”
@) | — e
. ‘.\ 1 ) g
O O R EN o
PRODUCT RENEWED o oS |22 (122
Em%l(gg gg]&%&%}fg&?&% FOR INSTALLATION as _co_mplying with the Florida [ prODUCTREVISED < : % ﬁ % [ZJE S E
Building Code 28 camplying wits the Flocide 2 |5 %) !

BRACKET DETAIL B NOA-No. _ 16-0912.02 | fuidag Cote o ToWE #
(CONCRETE/CMU INSTALLATION) ; wﬁuéﬁ%@ BPCOQ
By -

P ISHEET: 6 OF

101

duct Control




BILL OF MATERIALS
ITEM NO. DESCRIPTION MATERTAL MANUFACTURER
1 350 SIDE FRAME RAIL ALUMINUM BP GLASS DOORS
2 GLASS STOP ALUMINUM BP 6LASS DOORS
3 GLAZING GASKET EPDM GlLs
4 WEATHERSTRIPPING EPDM GLS

5 INTERMEDIATE RAIL {(UPPER) ALUMINUM BP GLASS DOORS
5A INTERMEDIATE RAIL (LOWER) ALUMINUM BP GLASS DOQRS
6 INTERMEDIATE HINGE 0.083" THK, STAINLESS STEEL} BP 6LASS DOORS
7 VERTICAL MULLION ALUMINUM BP GLLASS DOORS
8 ANGLE 12 GA. STEEL BP GLASS DOORS
BA ADJUSTABLE TAB 12 GA. STEEL EP GLASS DOORS
9 TRACK 2" 15 GA. STEEL BP GLASS DOORS
10 UNIVERSAL HINGES 12 GA. STAINLESS STEEL BP GLASS DGORS
11 HF-PIN BRACKET 12 GA. STAINLESS STEEL BP 6LASS DOORS
12 DEFLECTION BRACKET 11 GA. 6-90 GALV. STEEL BP GLASS DOORS
13 REMOVABLE REINFORCEMENT 178" THK, ALUMINUM BP GLASS DOORS
14 3/8" U-BOLT & LOCK NUTS STEEL BP 6LASS DOORS
15 U-BOLY PLATES 12 GA. GALV. STEEL BP 6L ASS DOORS
16 TOP BRACKET 1/4" STEEL BP 6LASS DOORS
17 TOP FIXTURE 1/8" THK. STAINLESS STEEL | BP 6LASS DOORS
18 450/550 TOP AND BOTTOM RAIL ALUMINUM BP GLASS DOORS
19 BOTTOM FLXTURE 1/8" THK. STAINLESS STEEL | BP 6LASS DOORS
20 3/8" bROP IN CONCRETE ANCHOR STEEL BP GLASS DOORS
21 1/4" - 20 HEX BOLT & NUTS STEEL BP 6LASS DOORS
22 1/4" NUT STEEL BP GLASS DOORS
23 FLOOR FLANGE 0.134” THK. 6-90 GALY, STEEL | BP GLASS DOORS
24 3/8" X 3" LAG BOLY STEEL BP GLASS DOORS
25 1/4" X 1/2" SELF THREADING SCREW STEEL BP GLASS DOORS
25 174" X 1/2" CARRIAGE BOLT STEEL BP GLASS DOORS
27 1/4" X 20 GALV. THRU BOLT W/ NUT STEEL BP GLASS DOORS
28 REINFORCING STRUT 1/4" THK. ALUMINUM BP 6lLASS DOORS

350 SIDE FRAME RAIL

ALUMINUM
TYPICAL WALL
THICKNESS: 060"

be——ef 750"
ORI

060" —

O

3.243"

Pl :

WEATHER STRIPPING
RUBBER

TYPICAL WALL

THICKNESS: .060"

0.060" F/{\;—_mf

0.836" ]

INTERMEDIATE RATIL
(LOWER) ALUMINUM
TYPICAL WALL
THICKNESS: 060"

Lt—»f— 1.750"

1368 F-i r 0.060"°

VERTICAL MULLION

ALUMINUM
TYPICAL WALL
THICKNESS: 060"

E 1.420"

0.060"
1760"

_f—_

@

PRODUCT RENEWED
as complying with the Florida
Building Code

NOA-No.

1555"

GLASS STOP
ALUMINUM
TYPICAL WALL
THICKNESS: 050"

——| {‘— 0.910"
0.437" J—OOEO" ]—

@

INTERMEDIATE RAIL
(UPPER) ALUMINUM
TYPICAL WALL
THICKNESS: 060"

L 3.500" —'

A
1,750"

INTERMEDIATE HINGE
STAINLESS STEEL

@er |

©
1.686"

0.0605—

7

©
=k

(8) INTERMEDIATE HINGES
PER SECTION JOINT

1.688"

BP-GLASS GARASE DOORS
& ENTRY SYSTEMS, INC.

1511 W, 2nd St
Pomonas, CA 51766
PH: (626) 442-1716  FXy (626) 579-8320
war.GlossGorage Doors o

6LASS GARAGE DOOR
(U5, PAT] - HURRICANE SYSTEN |
COMPONENTS &
BILL OF MATERIALS

398 E. DANIA BEACH BLVD. #338
DANTA BEACH, FL 33004

TITLE: BP-450/550 HD

ot (G84) 7444738

(954) 359.8478

Pl

BY | DATE
TIM 10.4.13 [ PREPARED RY:

REVISIONS

DESCRIPTION
OTH EDITION FBC UPDATES [5TM| 15.18 /:ﬁ\BUILDING DROPS, INC.

ANCHOR OPTIONS ADDED

o
S
=

,
3
:

o
o
B

PE =
, NG,
D, &

UZD
DRUPS, INC.
S

ORIZATIOH "N BE7R

% %

Expiration __ : 01/17/2021

By

iak, B 5‘:;
g ;L{'u‘_‘rem.g.
5 pagzi
VRN pERlEs
S
- rl =4 i n° 3
LN | e it
b fa
N a4 2 -
maamkfd\;llseo < T 92
as ofgaplying e Favida < o
16-0912.02 | ot Cod =

Mlaml——DéRE‘Fr’éduct Control

BPCOO5

SHEET: 7 OF8

P e
LS R R




ANGLE @ ADJUSTABLE TAB @ TRACK UNIVERSAL HINGES HF DEFLECTION BRACKET
STEEL L ﬂ‘&% WAL STEEL STAINLESS STEEL PI{\T ERACK%EL STEEL 0100
TYPICAL WA 534" s INLESsS 5 100
THICKNESS: 101" THICKNESS: 101" ?Hizcicﬁ‘egv;ufzs" z ~ TAN P
. . . 1 3
l—-— 2.915" +| i — 142" 450 L‘ f BP-CLASS EARAGE OGRS
l | B A
0‘125" L ] 1 I 1500“ O O O O O O O O O O O PH: (626]4:022;1?.5?)21(721) 579-5320
1.313" 3475:: 2.761“ 1‘440” @ {' 0620 0‘500“ } ;ww.aasssumgzbars,mm
f G201 —e fo— ; - 7.202" 7.000" ———— = E § g’
T i -l Uty 3
‘ © 5 86, | 248§
b/ 2822 1 4E° 8
OLU w o ..
Q 8BS | 23%¢
’ 83E X 1. S8%
TOP BRACKET Tur® I5 29 g
DU e — 2763 = STEEL B2 g g‘ég :
. B Z 5
REMOVABLE RETNFORCEMENT UBOLT U BOLT PLATES ~ s863 E‘”"DS;- S Bus E
ALUMINUM I s g @8
_.,I 2 353" i—<—- r 0.3756" 0.363" ] P_J Mg
-t t [ — 0.100" ) 1.613" < |¥id
2782" T - 2675 |© [-————“J O N HE
' Ito O | PR R
22407 ; 9 Q100" —=[=+ T 4 ‘ O - % ald
[ TR 0.363" 1t “ ) gl
"VARIES' { 7.226" ] —| f=— 0.250" ol z 1< §
: ALE
TOP FIXTURE 450/550 TOP AND BOTTOM RATL BOTTOM FIXTURE MIIEEE
STAINLESS STEEL ALUMINUM STAINLESS STEEL > 8 1E|z
\ ] ps REINFORCING STRUT Bl & |©
= 2750" = ALUMINUM oyl 5 |3 & 5
T 5o o) - - 1k
: g1
3.193" . < |k
: PY- oy J— o
e } O T K .
/> , O O —— S f<l=
55004 60° 7.000 2375° 3.125" =23 WL
: O O RO, 250" j R LT
——{ 250" p=— PRODUCT RENEWED et
0.100" as complying with the Florida o o.ajgr@%g- f
N ., Building Code : e ﬁ%ggdg
1 ©_© 1 — - 11410 NOA-No. 16-0912.02 SasgzE)-
=1 000 | - s 1750 Expiration Date01f17r’2°21 bbg‘ Egg%ﬁf
e FLOOR FLANGE o0470" = g
STEEL 1.500" | e B
—f  2500° | — : %)
t ; * . @2 oW
1.750 “ ‘-“Ph"mm“ M % X '&._)J =
431\_ Amnafg*%ﬂé &
1.000" _"I' 0.300" t g BP C005
le—— 45100 — ] Prodct Comrol ISHEET 8 OF 8 I




